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CLASS : 10th (Secondary) Code No. 5505 
Series : Sec. April/2021

Roll No. 

foKkufoKkufoKkufoKku    
SCIENCE 

(Physics, Chemistry and Life Science) 

HkkxHkkxHkkxHkkx – I
PART – I 

¼vkRefu"B iz'u½¼vkRefu"B iz'u½¼vkRefu"B iz'u½¼vkRefu"B iz'u½    

(Subjective Questions) 

(Academic/Open) 

[ fgUnh ,oa vaxzsth ek/;e ]

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

le;le;le;le; : 2
2
1  ?k.Vs?k.Vs?k.Vs?k.Vs    ] [    iw.kk±diw.kk±diw.kk±diw.kk±d : 60 ¼Hkkx¼Hkkx¼Hkkx¼Hkkx–I : 30,    HkkxHkkxHkkxHkkx–II : 30½½½½

Time allowed : 2
2
1  hours ] [ Maximum Marks : 60 (Part–I : 30, Part–II : 30) 

iz'u&i= nks Hkkxkas eas foiz'u&i= nks Hkkxkas eas foiz'u&i= nks Hkkxkas eas foiz'u&i= nks Hkkxkas eas foHkkftr gS % HkkxHkkftr gS % HkkxHkkftr gS % HkkxHkkftr gS % Hkkx–I    ¼vkRefu"B½ ,oa Hkkx¼vkRefu"B½ ,oa Hkkx¼vkRefu"B½ ,oa Hkkx¼vkRefu"B½ ,oa Hkkx–II    ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas 
ds mÙkj dksds mÙkj dksds mÙkj dksds mÙkj dks    viuhviuhviuhviuh    mÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk Hkkx–I    ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk 
ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk HkkxHkkxHkkxHkkx–II    ds fy, vkf[kjh dk ,d ?kads fy, vkf[kjh dk ,d ?kads fy, vkf[kjh dk ,d ?kads fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkVs dk le; fn;k tk,xkVs dk le; fn;k tk,xkVs dk le; fn;k tk,xk    vFkkZrvFkkZrvFkkZrvFkkZr~~ ~~    ijh{kk lekIr ijh{kk lekIr ijh{kk lekIr ijh{kk lekIr 
gksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkx–II    dk iz'udk iz'udk iz'udk iz'u&&&&i= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkA    

HkkxHkkxHkkxHkkx–I    ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy 9    iz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkx–II    ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy 30    iz'u gSaAiz'u gSaAiz'u gSaAiz'u gSaA    

Question paper is divided into two Parts : Part–I (Subjective type) and Part–II 

(Objective type). Answer the questions of both parts in your answer-book. Part–I 

of question paper with answer-book will be provided with starting of 

Examination and last one hour of Examination will be given for Part–II i.e. 

question paper of Part–II will be provided before one hour of the end of 

Examination. 

Total questions in question paper of Part–I are 9 and of Part–II are 30. 

SET : A
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( 2 ) 5505/(Set : A)

5505/(Set : A)/ I 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–I ds bl iz'u-i= esa eqfnzr i`"B 4 rFkk iz'u 9 gSaA 
Please make sure that the printed pages in this question paper of Part–I are 4 in

number and it contains 9 questions.

•••• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written.

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book.

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper.

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa lEcU/k esa lEcU/k esa lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAdksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAdksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAdksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

(i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

All questions are compulsory.

(ii) nh?kZ mÙkj okys iz'uksa esa vkarfjd fodYi dk izko/kku gSA 

Internal choice has been provided in long answer type questions.

(iii) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 

Marks of each question are indicated against it.
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( 3 ) 5505/(Set : A)

5505/(Set : A)/ I P. T. O. 

[k.M [k.M [k.M [k.M –    vvvv    

SECTION – A [ Marks : 10 

¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½

(PHYSICS) 

1. fo|qr~ VksLVj rFkk fo|qr~ izsl ds pkyd 'kq) /kkrq dh vis{kk feJ /kkrq ds D;ksa cuk, tkrs gSa \ 2 

Why are coils of electric toasters and electric irons made of an alloy rather 
than a pure metal ?

2. mRry niZ.k rFkk vory niZ.k esa vUrj fy[ksaA 3 

Write the difference between convex mirror and concave mirror.

3. ukekafdr vkjs[k [khapdj fdlh fo|qr~ eksVj ds fl)kUr ,oa dk;Zfof/k dk o.kZu dhft,A 5 

Explain principle and working of an electric motor by drawing a labelled 
diagram.  

vFkokvFkokvFkokvFkok    
OR 

(a) ifjukfydk ls vkidk D;k vfHkizk; gS \ ,d ifjukfydk esa izokfgr fo|qr~ /kkjk ds dkj.k mRiUu
pqacdh; {ks= dks vkjsf[kr dhft,A 3 

What is solenoid ? Draw the magnetic field around a current carrying 
solenoid. 

(b) ¶ysfeax dk nf{k.k-gLr fu;e fy[ksaA 2 

Write the Fleming's right-hand rule.

[k.M [k.M [k.M [k.M –    cccc    
SECTION – B [ Marks : 10 

¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½
(CHEMISTRY)

4. fo;kstu vfHkfØ;k dh ifjHkk"kk nsaA fo;kstu vfHkfØ;k dh larqfyr jklk;fud vfHkfØ;k fy[ksaA 2 

Define decomposition reaction. Write a balanced equation for decomposition 
reaction.  

5. OHCONa 232 10. dk lkekU; uke o nksnksnksnks mi;ksx fy[ksaA 3 

Write common name and two uses of OHCONa 232 10. . 
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6. (a) ijek.kq lkbt+] vkorZ esa dSls cnyrk gS \ o.kZu djsaA 3 

How does atomic size vary in a period ? Explain. 

(b) vk/kqfud vkorZ lkj.kh esa igys nl rÙoksa esa dkSu-lh /kkrq,¡ gSa \ 2 

In modern periodic table, which are the metals among first ten elements ?

vFkokvFkokvFkokvFkok    
OR 

ukbVªkstu ¼ijek.kq la[;k 7½ rFkk Q+kLQksjl ¼ijek.kq la[;k 15½ vkorZ lkj.kh ds lewg 15 ds rÙo gSaA 
bu nksuksa rÙoksa dk bysDVªkWfud foU;kl fy[ksaA buesa dkSu-lk rÙo vf/kd _.k fo|qr~ gksxk vkSj D;ksa \ 5

Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to 
group 15 of periodic table. Write electronic configurations of these two 
elements. Which of these will be more electronegative and why ? 

[k.M [k.M [k.M [k.M –    llll    
SECTION – C [ Marks : 10 

¼¼¼¼tho foKkutho foKkutho foKkutho foKku½½½½
(LIFE SCIENCE) 

7. ekuo esa ò"k.k ds D;k dk;Z gSa \ 2 

What are the functions performed by the testis in human beings ?

8. iq"i dh vuqnS?;Z dkV dk ukekafdr fp= cukb,A 3 

Draw a well-labelled diagram of the longitudinal section of a flower.

9. Xywdkst ds vkWDlhdj.k ls fHkUu thoksa esa ÅtkZ izkIr djus ds fofHkUu iFk D;k gSa \ 5 

What are the different ways in which glucose is oxidized to provide energy in 
various organisms ?  

vFkokvFkokvFkokvFkok    
OR 

(a) mRlthZ mRikn ls NqVdkjk ikus ds fy, ikni fdu fof/k;ksa dk mi;ksx djrs gSa \ 3 

What are the methods used by plants to get rid of excretory products ?

(b) Lo;aiks"kh rFkk fo"keiks"kh iks"k.k esa D;k varj gS \ 2 

What are differences between autotrophic nutrition and heterotrophic 
nutrition ? 

S 
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5505/(Set : A)/ II P. T. O. 

CLASS : 10th (Secondary) Code No. 5505 
Series : Sec. April/2021

Roll No. 

foKkufoKkufoKkufoKku    
SCIENCE 

(Physics, Chemistry and Life Science) 

HkkxHkkxHkkxHkkx – II
PART – II 

¼¼¼¼ oLr qoLr qoLr qoLr q fu "B iz'u½fu "B iz'u½fu "B iz'u½fu "B iz'u½     
(Objective Questions) 

(Academic/Open) 

[ fgUnh ,oa vaxzsth e k/;e ]

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 8 rFkk iz'u 30 gSaA 
Please make sure that the printed pages in this question paper of Part-II are 8 in

number and it contains 30 questions.

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the question paper.

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k     tk;sxkAtk;sxkAtk;sxkAtk;sxkA 
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %     
General Instructions : 

(i) lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     
All questions are compulsory.

(ii) lghlghlghlgh mÙkj viu h mÙkj&iqfLrdk e sa fyf[k,A 
Write correct answer in your answer-book.

SET : A
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[k.M [k.M [k.M [k.M –    vvvv     
SECTION – A [ Marks : 10 

¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½

(PHYSICS) 

1. fd lh okgu dk i'p n`'; ns[kus ds fy , dkSu-lk niZ.k iz;qDr gksrk gS \ 1 

(A) lery (B) mÙky
(C) vory (D) mijksDr lHkh
Which mirror is used as rear view mirror in vehicles ? 

(A) Plane (B) Convex

(C) Concave (D) All of the above

2. vkdk'k dk jax u hyk gksrk gS] izdk'k ds % 1 

(A) ijkorZu ls (B) izdh.kZu ls
(C) fo{ksi.k ls (D) viorZu ls
The colour of sky is blue due to : 

(A) Reflection (B) Scattering

(C) Dispersion (D) Refraction

3. fu Eu e sa ls dkSu ÅtkZ dk ijaijk xr òksr u ghau ghau ghau gha  gS \ 1 

(A) tSo e k=k (B) lkSj ÅtkZ
(C) iou ÅtkZ (D) bue sa ls dksbZ ugha
Which of the following is not a conventional source of energy ? 

(A) Bio-mass (B) Solar energy

(C) Wind energy (D) None of these

4. fu Eu e sa ls fo| qr~ vkos'k dk SI e k= d dkSu-lk gS \ 1 

(A) ,sfEi;j (B) oksYV
(C) dwykWe (D) twy
Which of the following is SI unit of electric charge ? 

(A) Ampere (B) Volt

(C) Coulomb (D) Joule
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5. fu Eufyf[kr esa ls dkSu-lk izkÑfrd  lalk/ku ug haug haug haug ha gS \ 1 

(A) ikuh (B) feV~Vh

(C) fo|qr~ (D) gok

Which of the following is not a natural resource ? 

(A) Water (B) Soil

(C) Electricity (D) Wind

6. ekuo us= fdl Hkkx ij izfrfcac cu krs gSa \ 1 

(A) n`f"ViVy ij (B) ifjrkfy dk ij

(C) iqryh ij (D) dkWfuZ;k ij

The human eye forms the image of an object at its : 

(A) Retina (B) Iris

(C) Pupil (D) Cornea

7. thok'e bZa/kuksa d s tyus ls dkSu-lh xSl mRiU u ughaughaughaugha  gksrh \ 1 

(A) dkcZu eksuksDlkbM (B) dkcZu M kbvkWDlkbM

(C) lYQj M kbvkWDlkbM (D) vkWDlhtu

Which gas is not released during the burning of fossil fuels ? 

(A) Carbon monoxide (B) Carbon dioxide

(C) Sulphur dioxide (D) Oxygen

8. Hkkjr esa [kku k id kus ds fy, vf/ kdre fdl bZa/ku dk iz;ksx fd;k tkrk gS \ 1 

(A) CNG (B) LPG

(C) dks;yk (D) xkscj xSl

Which fuel is maximum used for cooking in India ? 

(A) CNG (B) LPG

(C) Coal (D) Gobar gas

Previous Pathshala

https://www.haryanaboard.com/


( 4 ) 5505/(Set : A)

5505/(Set : A)/ II 

9. ik¡p R's e sa ls nwljs 'R' dk D;k vFkZ gS \ 1 

(A) de mi;ksx (B) iqu% mi;ksx
(C) iqu% pØ.k (D) mijksDr lHkh
What is meaning of second R in 5 R's ? 

(A) Reduce (B) Reuse

(C) Recycle (D) All of the above

10. fd lh Hkh HkkSfrd vFkok jklk;fud izØe esa dqy  Åt kZ % 1 

(A) c< + tkrh gS (B) ?kV tkrh gS
(C) vifjofrZr jgrh gS (D) bue sa ls d ksbZ ugha
In any physical or chemical process, the total energy : 

(A) increases (B) decreases

(C) remain unchanged (D) None of these

[k.M  [k.M  [k.M  [k.M  –    cccc     
SECTION – B [ Marks : 08 

¼¼¼¼ jlk; u foKkujlk; u foKkujlk; u foKkujlk; u foKku ½½½½

(CHEMISTRY)

11. VekVj esa ik, tkus okys vEy dk u ke fy[ksaA 1 

Name the acid is present in tomatoes.

12. ge yksgs dh phtksa ij isaV D;ksa d jrs gSa \ 1 

Why do we apply paint on iron articles ?

13. ,d v/ kkrq dk uke fy [ksa tks rjy voLFkk esa ikbZ t krh gSA 1 

Name a non-metal which is liquid in nature.

14. ,d / kkrq dk uke fy [ksa ftls pkdw ls d kVk tk ldrk gSA 1 

Name a metal which is soft & can be cut with knife.
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15. fu Eu e sa ls vlar`Ir ;kSfxd d kSu-lk gS \ 1 

(A) esFksu (B) ,Fksu kWy

(C) csUthu (D) dksbZ u gha

Choose unsaturated compound among the following : 

(A) Methane (B) Ethanol

(C) Benzene (D) None

16. 33 NaNOAgBrNaBrAgNO +→+  gS \ 1 

(A) la;kstu vfHkfØ;k (B) fo;kstu vfHkfØ;k

(C) f}foLFkkiu vfHkfØ;k (D) foLFkkiu vfHkfØ;k

33 NaNOAgBrNaBrAgNO +→+  is a : 

(A) Combination reaction (B) Decomposition reaction

(C) Double displacement reaction (D) Displacement reaction

17. ,Fksu e sa lgla;kst d ca/k gSa % 1 

(A) 6 (B) 7

(C) 8 (D) 9

Covalent bonds present in ethane are : 

(A) 6 (B) 7

(C) 8 (D) 9

18. le tkrh; Js.kh ds nks ;kSfxd ksa esa fdl bdkbZ dk varj gS \ 1 

(A) CH   (B) 2CH

(C) 3CH   (D) 4CH

Two members of a homologous series differ by : 

(A) CH   (B) 2CH

(C) 3CH   (D) 4CH
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[k.M [k.M [k.M [k.M –    llll     
SECTION – C [ Marks : 12 

¼¼¼¼ t ho f oK kut ho f oK kut ho f oK kut ho f oK ku ½½½½

(LIFE SCIENCE) 

19. eu q"; e sa o`Dd ,d ra= dk Hkkx gS t ks lacaf/kr gS % 1 

(A) iks"k.k ls (B) 'olu ls

(C) mRltZu ls (D) ifjogu ls

The kidneys in human beings are a part of the system for : 

(A) Nutrition (B) Respiration

(C) Excretion (D) Transportation

20. Loiks"kh iks"k.k ds fy, vko';d gS % 1 

(A) dkcZu MkbvkWDlkbM rFkk ty (B) DyksjksfQy

(C) lw;Z dk izdk'k (D) mijksDr lHkh

The autotrophic mode of nutrition requires : 

(A) Carbon dioxide and water (B) Chlorophyll

(C) Sunlight (D) All of the above

21. fu Eu e sa ls dkSu ekuo esa eknk t uu ra= dk Hkkx u ghau ghau ghau gha gS \ 1 

(A) vaM k'k; (B) xHkkZ'k;

(C) 'kqØokfgdk (D) fMacokfguh

Which of the following is not a part of the female reproductive system in 

human beings ? 

(A) Ovary (B) Uterus

(C) Vas deferens (D) Fallopian tube
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22. fu Eufyf[kr esa ls fdl okgd }kjk ijijkx.k lEiUu gksrk gS \ 1 

(A) ok;q (B) ty

(C) izk.kh (D) mijksDr lHkh

Cross pollination is achieved by which of the following agents ? 

(A) Wind (B) Water

(C) Animals (D) All of the above

23. fu Eu e sa ls dkSu vkgkj-Ük`a[ky k dk fuekZ.k djrs gSa \ 1 

(A) ?kkl] xsgw¡ rFkk vke (B) ?kkl]  cdjh rFkk ekuo

(C) cdjh]  xk; rFkk gkFkh (D) ?kkl]  e Ny h rFkk cdjh

Which of the following constitute a food-chain ? 

(A) Grass, wheat and mango (B) Grass, goat and human

(C) Goat, cow and elephant (D) Grass, fish and goat

24. fu Eu e sa ls dkSu-lk inkFkZ vt So&fu Euhdj.kh; gS \ 1 

(A) ?kkl (B) iq"i

(C) ydM +h (D) IykfLVd

Which of the following is a non-biodegradable substance ? 

(A) Grass (B) Flower

(C) Wood (D) Plastic

25. os tho tks t fVy dkcZfud inkFkksZa dks ljy vdkcZfud inkFkksZa e sa cny  d j feêh esa fe yk nsrs gSa % 1 

(A) vie ktZd (B) mRiknd

(C) 'kkdkgkjh (D) e kalkgkjh

The organisms which breakdown complex organic substances into simple 

inorganic substances and mix them in the soil : 

(A) Decomposers (B) Producers

(C) Herbivores (D) Carnivores
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26. gekjs 'kjhj esa fu ;a= .k ,oa leU o; d k dk;Z gkeksZu rFkk ------------ }kjk gksrk gSA 1 

(A) efLr"d (B) izfrorhZ pki

(C) raf= dk ra= (D) jklk;fud  leUo;

Control and coordination are the functions of the harmones and ……….. in our 

body. 

(A) Brain (B) Reflex arc

(C) Nervous system (D) Chemical coordination

27. vkgkj uky dk lcls yack Hkkx dkSu-lk gS \ 1 

Which is the longest part of the alimentary canal ?

28. iq#"k e sa d kSu-lk fyax xq.klw= gksrk gS \ 1 

Which sex chromosome is present in males ?

29. es# jTtq fdlls jf{krk gksrh gS \ 1 

(A) diky (B) d'ks#dnaM

(C) ily h (D) bue sa ls dksbZ ugha

Spinal cord is protected by : 

(A) Cranium (B) Vertebral column

(C) Ribs (D) None of these

30. esaM y us ---------- ds ikS/ks ds vusd  foi;kZlh ¼fodYih½ y {k.kksa dk v/ ;;u fd;kA 1 

Mendal had studied a number of contrasting visible characters in ………….. 

plants.

S 
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